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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMEL /2-6500104-00001XX
Real02 for No.9589

d=[px)=x"+x +2x"=3,c=1]
2=[p(x)=x'"-2x"+5x-2,c=-2]

2
No0l = ,3:[p(x):—12x+3+9x2+6x4—4x3,c:gJ

-3
.4=[p(x)=—2x—9+10x4+15x3,c=5}

A=[b(x)=x-2, a(x):x4+mx2—4x3+2x+ 12]
2=[b(x)=x+ l,a(x):mx3+x4+5x2—x—7]
3=[b(x)=x—m, a(x):xz—x— 12, r=-6]
4=[b(x)=2x-5,a(x)=2x+10x" =21 =10 x> + m, r=3]
I d=[p(x)=x+2x*—x-2] |
2=[p(x)=x"—13x"+36]
3=[p(x)=x"+27]
4=[p(x)=x"—-256]
S=[p(x)=x"+6x+12x>+11x+6]
G6=[p(x)=x"+8x+17x*—2x—-24]
T=[p(x)=15x -8x" = 17x+6]

L8=[p(x)=6x"+5x =37x"—14x+40]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00002XX
Real02 for No.9707

No02 =

No03 =

d=[p(x)=x"-2x"+4x"=-3,¢c=1]
2=[p(x)=x"+3x"+5x-4,c=-2]

1
NoOI =| 3= p(x):12x—2—9x2+15x4—5x3,c=ﬂ

-1
.4:{p(x):—4x—5+8x2+10x4+5x3,c=z}

A=[b(x)=x+2, a(x):x4+mx—2x2—10]
2=[b(x)=x-La(x)=x'+mx’=3x"]

No02 = 5
J=[bx)=x-m,a(x)=x"+5x+11,r=7]
4=[b(x)=2x-3,a(x)=-8x+11-9x"+mx’, r=-1]
I d=[p(x)=x+4x>~9x—36] |
2=[p(x)=x"—13x"+36]
3=[p(x)=x"+27]
No03 — 4=[p(x)=x"-256]

S=[px)=x"+5x-13x=77x-60]
H=[p(x)=x"+3x +x"+x—-6]
7=[p(x)=20x"-37x"—8x+4]

4 3 2
L.8=[p(x)=16x"+24x —39x" —31 x+30]4
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXXXXXXXXKXMAL /2-6500104-00003XX
Real02 for No.9821

.]:[p(x):x4—x2—5x+1,c:2] |
2=[p(x)=x"+2x-3x"=5,c=-3]

1
No0l = .3=[p(x)=6x3+4x2+7x—2,czﬂ

-3
.4={p(x)=4x4+6x3—5,c=;}

.]=[b(x):x+3,a(x):mx3+x4+2x2— 18]
2=[b(x)=x-2,a(x)=x'+mx-2x"—6]

No(2 = N 4 )
d=[b(x)=2x-3,a(x)=—4x+5-Tx +2x +mx",r=-1]
A4=[b(x)=x—-m, a(x):x2+5x— 11, r=-5]
| d=[p(x)=x—x—dx+4] |
2=[p(x)=x"—29x"+100]
3=[p(x)=x"—64]
NoO3 4=[p(x)=x"—-256]

S=[px)=x"-3x-9x"+25x-6]
GH=[p(x)=x"-2x"=13x>+ 14 x + 24]
J=[p(x)=8x+6x"-59x—15]

| 8=[p(x)=20x"+41x—95x*— 122 x - 24]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00004XX
Real02 for No.10352

d=[p(x)=x"+3x —4x"=5,¢=2]
2=[p(x)=x'+4xX +x"+2,¢=-3]

3
NoOI =|.3= p(x)=2x—9—14x3+3x2+8x4,c=ﬂ

-1
.4=[p(x)=—8x—6+12x2,c:?}

A =[b(x)=x-2, a(x):mx3+x4+4x]
2=[b(x)=x+3,ax)=x"+mx*+3x + 18]
3=[b(x)=3x-5,a(x)=-28x +5xX+15x =1 +mx,r=-1]
.4:[b(x):x—m,a(x):x2+5x—2,r:—6]
I d=[p(x)=x=5x"—4x+20] |
2=[p(x)=x"=17x"+16]
3=[p(x)=x"+38]
4=[p(x)=x"-81]
S=[p(x)=x"—10x +33x"—40x + 12]
6=[p(x)=x"—10x"+25x" - 36]
J=[p(x)=10x +41 x* +46 x + 15]

4 3 2
L8=[p(x)=12x"-47x +42x" +23 x—30]4
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXKXXKXXKXKXKXMA /2-6500104-00005XX

Real02 for No.10380

d=[p(x)=x"-5x"+5x+4,c=2]
2=[p(x)=x'"-4x+5x-1,c=-1]

-5
No0l = .3:[p(x):—2x—2+3x4+5x3—3x2,c:§}

5
.4=[p(x)=—14x3+ 10x2+4x4+6x—20,c:5J

.]:[b(x):x+2,a(x):mx3+x4—2x+4]
.2=[b(x):x—1,a(x)=x4+mx2+5x3—1]

No02 = 5
J=[b(x)=x-m,a(x)=x"-5x—-12,r=-6]
4=[b(x)=3x+4,a(x)=6x"+8x +8+mx, r=-4]
I d=[p(x)=x+3x"—4x-12] |
2=[p(x)=x"—29x"+100]
3=[p(x)=x"—125]
NoO3 — A=[p(x)=x"-1]

S=[px)=x"+3x-13x* =27 x +36]
H=[p(x)=x"+3xX+x"+5x+6]
J=[p(x)=12x =23 x> =10 x +25]

L8=[p(x)=15x"+13x =113 x* =173 x = 30]_

):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00006XX
Real02 for No.10412

d=[p(x)=x"-3x"-3x-4,c=3]
2=[p(x)=x"+4x=3x-3,c=-2]

1
No0l = .3=[p(x)=12x4—4x3—5,c=g}

-3
.4:{p(x):6x3+9x2+2x+l,c:;}

.]=[b(x):x—1,a(x)=x4+mx+3x2—1]
2=[b(x)=x+2,a(x)=mx +x —4x" —4x-8]

No02 = )
J=[b(x)=x-m,a(x)=x"+6x+2,r=-3]
.4:[b(x):2x—5,a(x):6x3—15x2—4x+m,r:5]
I d=[p(x)=x—d4x —x+4] |
2=[p(x)=x"—13x"+36]
3=[p(x)=x"+125]
No03 — 4=[p(x)=x"-625]

S=[p(x)=x"+10x +35x" + 50 x +24]
G6=[p(x)=x"+7x +16 x>+ 13x+3]
T=[p(x)=15x +49 x* +49 x + 15]

4 3 2
.8=[p(x)=20x"—89 x>+ 148 x* — 109 x + 30].
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXXKXKXKXMA /2-6500104-00007XX

Real02 for No.10487

No0Ol =

No02 =

No03 =

d=[p(x)=x"-3x"+5x+2,¢c=3]
2=[p(x)=x"+4x"+3x+5c=-1]

-5
.3=[p(x)=12x4+32x3+20x2—3x+2,c:ﬂ

5
.4=[p(x)=—4x2+2x+2x4—5x3+26,C=EJ

.]:[b(x):x+3,a(x):x4+mx2+3x3—3x—9]

2=[b(x)=x-2,a(x)=x"+mx+2x"—18]

4=[b(x)=x—m,a(x)=x"+3x—-34,r=-6]
I =[p(x)=x+5x—16x-80] |
2=[p(x)=x"-5x"+4]
3=[p(x)=x"+27]
4=[p(x)=x"-81]
S=[px)=x"-5x-x"+23x-6]
G6=[p(x)=x"+7x +2x" =28 x—24]
7=[p(x)=15x+71 x>+ 86 x + 24]

3=[b(x)=3x=5,a(x)=21x—14x"+3x +m, r=3]

L8=[p(x)=20x"-39x" =74 x* + 21 x + 36].

):0:0:9.0:0:9.:0.0:9.0:0:9.:9.0:9.9.0:9.:0.0:9.0.0:9.0.0:9.0.0:9.9.0:9.9.0:9.9.0:9:0.0:9:0.0:0.:0.0:9.:9.0:9:0.0:9:0.0:0:9.0:0:0.0:0:0.0:9:0.0:9:0.0:0:0.0:0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXM4L /2-6500104-00008XX

Real02 for No.10644

d=[p(x)=x"-4x+3x+2,¢=2]
2=[p(x)=x"-2x+3x"+5,c=-1]

-1
No0l = 3= p(x)=16x+12x2,c=ﬂ

No(2 =

3
.4:{p(x):—5x3+3x2+2x4—2x—3,c:g}

A=[b(x)=x-2, a(x)=mx3+x4+x— 10]

2=[b(x)=x+Lax)=x"-2X+mx+4x"-17]

3=[b(x)=x-m,a(x)=x"—x-31,r=-1]

.4=[b(x):3x+2,a(x):3x—5+4x3+15x4+mx2,r:—7]

No03 =

d=[p(x)=x+5x"—x—-5]
2=[p(x)=x"=5x"+4]
3=[p(x)=x"+125]
4=[p(x)=x"-625]
S=[p(x)=x"+x —16x"+11x+3]
H=[p(x)=x"+2x =21 x> =22 x+40]
T=[p(x)=6x+13x>—4]
L 8=[p(x)=15x"—x’ —42 x> + 36 x - 8.

X [Page = 0004] XXXXXXXXXXXXXXXXXXKXXXXXKKXXXXXXKXXXXXKKXKXXXKKKXXXKXKKXXXKKKKXKKKXK



)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMAL /2-6500104-00009XX
Real02 for No.11101

d=[p(x)=x"+5x+x+4,c=1]
2=[p(x)=x"-4x"=5x-3,c=-2]

5
No0l = .3=[p(x)=3x3+x2+2x—24,czﬂ

-5
.4=[p(x)=2x—13+2x4+5x3+4x2,c=;}

A =[b(x)=x+2, a(x):mx3+x4—2x2—4x— 16]
2=[b(x)=x-Lax)=x'+mx’-2x"]

No(2 = 4 3
3=[b(x)=3x+2,a(x)=3x +2x +6+mx,r=06]
A4=[b(x)=x—-m, a(x):x2—2x— 14, r=-6]
| J=[p(x)=x+x—16x—16] |
2=[p(x)=x"—10x"+9]
3=[p(x)=x"+38]
NoO3 4=[p(x)=x"—-256]

S=[p(x)=x"+4x =13 x> — 64 x — 48]
H=[p(x)=x"—6x"+12x—9x+2]
T=[p(x)=6x +31x"+48x+20]

| 8=[p(x)=20x"+49x"—6x* =53 x-10]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00010XX
Real02 for No.11613

d=[p(x)=x"-3x"+x+1,c=3]
2=[px)=x"-x*+x+1,c=-1]

3
No0I = .3=[p(x)=6x4—9x3+4x2—6x+1,c=ﬂ

-1
.4:{p(x):9x+9—7x2+6x3,c=;}

Ad=[b(x)=x+ 1,a(x)=x4+3x3+mx+x2+1]
2=[b(x)=x—-2,a(x)=x"+mx’—4x+12]
3=[b(x)=x-m,a(x)=x"+9x+ 14, r=-6]

.4=[b(x):2x+5,a(x):—15x2+ 10x4—7+mx3,r:—7]
I d=[p(x)=x =~ 9x+9] |
2=[p(x)=x"—41x"+400]
3=[p(x)=x"+125]
4=[p(x)=x"-625]
S=[p(x)=x"-5x"+20x-16]
GH=[p(x)=x"+5x+3x-Tx-2]
7=[p(x)=20x"+29x* - 26 x — 8]

4 3 2
L8=[p(x)=12x"+13x —77x" —12x+36]4
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXM4L /2-6500104-00011XX
Real02 for No.11720

d=[p(x)=x"-3x"=x"=2,c=1]
2=[p(x)=x"+2x—2x+4,c=-2]

3
No0l = .3=[p(x)=2x4—3x3—2x,c=ﬂ

-1
.4=[p(x)=12x+3—3x3—2x2+9x4,c=;}

A=[b(x)=x+2, a(x):mx3+x4—3x+ 18]
2=[b(x)=x-La(x)=x'+mx+x"—4]

No(2 = N
J=[b(x)=x-m,a(x)=x"—-6x—-11,r=-4]
4=[b(x)=2x-3,a(x)=—11x-3+mx’, r=-6]
| J=[p(x)=x+x—16x—16] |
2=[p(x)=x"-5x"+4]
3=[p(x)=x"—125]
NoO3 4=[p(x)=x"—625]

S=[p(x)=x"—4x"—13x>+40 x + 48]
6=[p(x)=x"-3x"-12x*+17x-3]
J=[p(x)=15x =76 x>+ 103 x - 30]

| 8=[p(x)=10x"+7x’ - 46 x> =73 x =301
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00012XX
Real02 for No.12122

d=[p(x)=x'-4xX +x"+4,¢=3]
2=[p(x)=x"+2x"+2x-4,c=-2]

4
NoOI =|.3= p(x):12x—11+15x4—8x3—16x2,c=ﬂ

-1
.4:[p(x):10x4+5x3—8x—I,CZEJ

Ad=[b(x)=x+ 1,a(x)=x4+mx2+x3+ 1]
2=[b(x)=x-3,a(x)=x"-3x +m—x]
3=[b(x)=3x-1a(x)=3+6x"+6x"-2xX +mx,r=-1]
4=[b(x)=x—m, a(x):xz— 11x+32,r=2]
I d=[p(x)=x+5x"~9x—45] |
2=[p(x)=x"—13x"+36]
3=[p(x)=x"+125]
4=[p(x)=x"-256]
S=[p(x)=x"+6x"+13x*+16x+12]
6=[p(x)=x"—13x +56x" - 92 x +48]
7=[p(x)=16x"—49 x +30]

4 3 2
LE=[p(x)=12x +37x +21x - 16x—-12]]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMAL /2-6500104-00013XX
Real02 for No.12133

d=[p(x)=x"-2x"=2x"=3,¢c=3]
2=[p(x)=x"+5x"+4x+3,c=-1]

-4
No0l = .3:{p(x):3x4+4x3—6x—4,c=;}

5
.4=[p(x)=4x4—2x3—20x2+4x—9,c=5}

.]:[b(x):x—3,a(x):mx3+x4—5x2—9]
2=[b(x)=x+Lax)=x"+mx’+2x+4]

No(2 = 5
J=[b(x)=x-m,a(x)=x"—-4x—-17,r=-5]
4=[b(x)=2x-5,a(x)=8x"-20x"+4x+l+mx, r=1]
| d=[p(x)=x=3x"—16x +48] |
2=[p(x)=x"—10x"+9]
3=[p(x)=x"—64]
NoO3 — 4=[p(x)=x"—-256]

S=[px)=x"+2x =21 x*-62x-40]
H=[p(x)=x"+7x +8x = 13x—-3]
T=[p(x)=6x-5x"-=17x+6]

L8=[p(x)=20x"—111x+196 x* — 141 x + 36
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00014XX
Real02 for No.12317

d=[p(x)=x"—4x—x"+3,¢=2]
2=[p(x)=x"+3x=5x+3,c=-3]

5
NoOl=| 3= p(x)=—14x2+8x+4x3+1,c=ﬂ

-5
-4:{p(x)=6x—16+9x2+15x4+25x3,c:;}

.]:[b(x):x+l,a(x):x4+mx2+2x3+5x+6]
2=[b(x)=x-2,a(x)=x"-2x"+m+4x]

No02 = S
d=[b(x)=2x-1,a(x)=9+4x -2x +mx,r=6]
.4:[b(x):x—m,a(x):x2—3x—l9,r:—1]
= [p(x)=x"+5x—16x-80] |
2=[p(x)=x"—13x"+36]
3=[p(x)=x"—64]
No03 - 4=[p(x)=x"-81]

S=[px)=x"+4x -9x" - 16 x+20]
G6=[p(x)=x"+8x+22x*+23x+6]
J=[p(x)=15x =22 x" - 63 x — 18]

4 3 2
L8=[p(x)=12x"+7x" —48x"— 13 x+30]]
X [Page = 0007] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXKXKXXKXXKXKXKXKKXKXKKXKKXKKXKXKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME /2-6500104-00015XX
Real02 for No.12380

d=[p(x)=x"-x"—5x-1,c=2]
2=[p(x)=x'+4x-5x-4,c=-3]

-1
No0l = .3:[p(x):3x3+x2—3x—5,c:?}

3
.4={p(x)=8x—19—10x3+6x2+4x4,c=5}

A=[b(x)=x-2, a(x):x4+mx—x2— 14]

2=[b(x)=x+Lax)=x'-5+m+4x]
3=[b(x)=2x+3,a(x)=-8x-15+7x +10x" + mx’, r=-3]

4=[b(x)=x—-m,a(x)=x"+2x-22,r=-7]

I d=[p(x)=x+5x"—x—5] |
2=[p(x)=x"—10x"+9]
3=[p(x)=x"+38]
A=[p(x)=x"-1]
S=[p(x)=x"+2x +x"—4]
6=[p(x)=x"+13x+56x" + 92 x +48]
T=[p(x)=9x =39x"+31x+15]

L. 8=[p(x)=8x"=30x"+15x>+10x—3]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00016XX
Real02 for No.12498

No02 =

No03 =

d=[p(x)=x"+x -3x-1,c=2]
2=[p(x)=x"+x +3x"+1,c=-1]

-3
No0l = .3={p(x)=6x2+13x+5,c=3}

1
.4:{p(x):6x4+7x3—3x2+7,c=g}

.]:[b(x)=x+3,a(x)=x4+mx2+3x3+5x+ 15]
2=[b(x)=x-2,a(x)=x"—4xX +mx+2x"+8]
3=[b(x)=x—m,a(x)=x"—2x—12,r=3]
4=[b(x)=3x+5,a(x)= 12x3+29x2+27x+m,r:—5]
= [px)=xX+4x-x-4] ]
2=[p(x)=x"=29x"+100]
3=[p(x)=x"+38]
4=[p(x)=x"-625]
S=[p(x)=x"-8x"+19x*—16x+4]
6=[p(x)=x"=25x"+60x—-36]
J=[p(x)=10x"+7x* =21 x - 18]

4 3,2
L.8=[p(x)=9x —15x" +x " +7x—-2]
X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXXXKXKXXXKXKXKXX
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME /2-6500104-00017XX
Real02 for No.12554

d=[p(x)=x"-2x"+2x-3,c=2]
2=[p(x)=x"+3x—4x+3,c=-3]

-5
No0l = .3={p(x)= 14 x* - 19x+8x3—8,c=ﬂ

4
.4={p(x)=7x—7+6x4—8x3—3x2,c=§}

A=[b(x)=x-2, a(x):x4+mx2—x3—x—6]
2=[b(x)=x+ l,a(x):mx3+x4+x2—7]

No(2 = )
d=[b(x)=x-m,a(x)=x"+13x+38,r=-4]
4=[b(x)=3x=5,a(x)=12x"-20 +4+mx, r=4]
I d=[p(x)=x=3x"—x+3] |
2=[p(x)=x"—25x"+144]
3=[p(x)=x"+64]
NoO3 — A=[p(x)=x"-1]

S=[p(x)=x"-6x +x"+28x-12]
6=[p(x)=x"—3x"—24x>+28 x + 48]
J=[p(x)=12x=19x> =56 x + 15]

L8=[p(x)=12x"-19x =32 +49x - 10]_
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00018XX
Real02 for No.12836

.]:[p(x):x4—5x2+x+2,c:1]
2=[p(x)=x'+5x+4x"+1,¢c=-3]

3
NoOI =|.3= p(x)=2x4+5x3—12x2—6x+13,c=ﬂ

-2
.4:{p(x):—9x2— 15x+6x4+4x3,c:;}

.]=[b(x):x—1,a(x)=x4—4x2+m+4x]
2=[b(x)=x+2,ax)=x"+mx*+5x +8]
3=[b(x)=x-m,a(x)=x"+8x+5,r=-7]
4=[b(x)=2x+5,a(x)=-16+8x"+20xX" +6 x>+ mx, r=4]
= [p(x)=x"—4x"-9x+36] |
2=[p(x)=x"=29x"+100]
3=[p(x)=x"—64]
4=[p(x)=x"-81]
S=[px)=x"+5x-7x" =29 x+30]
G6=[p(x)=x"-4xX +3x+2x-6]
T=[p(x)=15x-13x"=3x+1]

4 3 2
L.8=[p(x)=8x +46x"+79x +41 x+6]]
X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXKKXKXKXXKKXXKKXKKXX KKK KKK XKKKKK
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No03 =
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKXMAL /2-6500104-00019XX
Real02 for No.12959

d=[p(x)=x"-2x"+5x+3,c=1]
2=[p(x)=x"+2x-x*+2,c=-3]

-1
No0l = ,3:[p(x):—3x2—4x+9x4+3x3+5,c:§}

1
.4={p(x)=—6x+9+6x4+x3—2x2,c=5}

A =[b(x)=x-2, a(x):x4+3x2+m—5x]
2=[b(x)=x+3,a(x)=x"+mx*+3x = 9]
J=[b(x)=2x+ l,a(x):8x+9+8x4+4x2+mx3,r:5]
4=[b(x)=x-m,a(x)=x"—11x+32,r=2]
= [p(x)=x"+2x"-9x—18] |
2=[p(x)=x"—34x"+225]
3=[p(x)=x"—64]
4=[p(x)=x"-16]
S=[px)=x"-x"—4x-4]
G6=[p(x)=x"-5x"-13x>+77x-60]
J=[p(x)=12x =x* =16 x+5]

L 8=[p(x)=6x"+11x-30x*-29x—6]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00020XX
Real02 for No.12967

No02 =

No03 =

d=[p(x)=x"-x"-3x-2,c=1]
2=[p(x)=x"+2x"+x-2,c=-2]

2
No0l =|.3= p(x):—9x2+6x+6x4—4x3+7,c:g}

-3
.4=[p(x)=—4x+ 10—2x2+4x3,c:ﬂ

A=[b(x)=x+ l,a(x):mx3+x4—x—4]
2=[b(x)=x-3,a(x)=x"-2xX+mx-2x"-9]
3=[b(x)=3x-5,a(x)=29x-8+6x - 10X+ mx’, r=7]

.4:[b(x):x—m,a(x):x2— 11 x+25r=-3]
I =[p(x)=x—4x"-9x+36] |
2=[p(x)=x"=26x"+25]
3=[p(x)=x"—8]
4=[p(x)=x"-256]
S=[p(x)=x"+4x —x"—16x-12]
G6=[p(x)=x"-5x+4x"+7x-3]
T=[p(x)=9x —9x*—22x+8]

4 3 2
L8=[p(x)=6x —11x"—14x"+29x—-10]]
X [Page = 0010] XXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXXXXKXXKXXKXKKXKKXKXKKXKKXKKKXKXKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXM4L /2-6500104-00021XX
Real02 for No.12975

I =[px)=x'—2x"—2x-3,c=2]
2=[p(x)=x"-5x"=3x+5,c=-1]

2
No0l = .3:{p(x):12x4—8x3—3,c:§}

-1
.4={mﬁ)=6f+3xa+2x+2c=§1

.]:[Mx):x—Z,dx):nu€+x4—5x2—3x+10]
2=[b(x)=x+3,ax)=x'+mx*+2x +4x—-15]
3=[b(x)=2x+Lax)=1+6x"+10x"+5x +mx, r=4]
4=[b(x)=x-m,a(x)=x"—-2x-3,r=5]

d=[p(x)=x+5x"—4x-20] |
2=[p(x)=x"—17x"+16]
3=[p(x)=x"—1]
A=[p(x)=x"-1]
S=[px)=x"-2x" =21 x*+62x-40]
GH=[p(x)=x"—6x"—=3x+2]
J=[p(x)=15x+17x* =79 x + 15]

L8=[p(x)=12x"-23x" - 18 x* +27x+ 10]_
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00022XX
Real02 for No.12979

No02 =

No03 =

.]:[mj):x4—3x3+5x—5,c:3]
2=[p(x)=x'-x"-4x"+4,c=-2]

-4
NoOI =| 3= p(x)=12x4+16x3+12x+9,c=?:|

5
.4=[p(x)=8x4—20x3+4x2—8x—1,c=ﬂ

.1=Hmﬂ:x—laﬁﬁzmxahf—5f+2x]
2=[b(x)=x+3,ax)=x"+4x +m—4x]
3=[b(x)=x-m,a(x)=x"—6x-5,r=2]

4=[b(x)=2x+3,ax)=8x"+ 12X +2x*+9+mx, r=6]
I =[p(x)=x-5x"-9x+45] |
2=[p(x)=x"=20x"+64]
3=[p(x)=x"+125]
4=[p(x)=x"-16]
S=[p(x)=x"+10x +27x° +2x—-40]
6=[p(x)=x"-8x"+18x - 13x+2]
7=[p(x)=9x—6x"—53x—30]

4 3 2
LE=[p(x)=9x +54x" +95x" +34x—24]]
X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXKXXKXKXKXXKXKXKXKKXKXKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXM4L /2-6500104-00023XX
Real02 for No.13010

d=[p(x)=x"-3x"=x"-1,¢=3]
2=[p(x)=x"-3x"+4x+5c=-1]

4
No0l = .3=[p(x)=12x3—10x2—8x+4,c=ﬂ

-5
.4={p(x)=2x3+7x2+11x+12,c=;}

A=[b(x)=x- l,a(x):mx3+x4—x+3]
2=[b(x)=x+2,a(x)=x"+3x + mx+18]

No02 = 4 3 5
J=[b(x)=2x—-1l,a(x)=4x+3+2x —x +mx",r=5]
.4:[b(x)zx—m,a(x):x2—7x+4,r:-2]
I d=[p(x)=x-2x"—9x+18] |
2=[p(x)=x"—25x"+144]
3=[p(x)=x"+38]
NoO3 4=[p(x)=x"—625]

S=[p(x)=x"-9x +24x* - 19x+3]
G6=[p(x)=x"+6x —5x"—42x+40]
7=[p(x)=20x" =27 x> =89 x—30]

| 8=[p(x)=20x"—9x-110x* =117 x - 36]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00024XX
Real02 for No.13020

d=[p(x)=x'-4x +4x*-1,¢=3]
2=[p(x)=x"-3x"+5x-2,c=-2]

-4
No0I =|.3= p(x):9x+16+9x4+18x3+8x2,c:?J

3
.4:[p(x):2x3—3x2—3,c:5J

.1=[b(x):x+2,a(x)=mx3+x4—5x2—x+2]
2=[b(x)=x-Lax)=x"-2xX +mx+4x"-3]

No02 = )
J=[bx)=x-m,a(x)=x"+2x-34,r=1]
4=[b(x)=3x- l,a(x):3x4—x3—3x+m,r:—2]
I d=[p(x)=x -~ 16x+16] |
2=[p(x)=x"=26x"+25]
3=[p(x)=x+1]
No03 — 4=[p(x)=x"-16]

S=[p(x)=x"-9x" +21x* +x-30]
H=[p(x)=x"+4xX +6x+5x+2]
J=[p(x)=6x+31x"+48x+20]

4 3 2
L.E=[p(x)=20x" —-61x —14x" +55x—-12]]
X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXKXXXXXKXKXKXKXKXKKXX
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXXKXMEL /2-6500104-00025XX
Real02 for No.13028

d=[p(x)=x"-4x"+3x+1,c=1]
2=[p(x)=x"+4x=5x+5,c=-3]

1
No0l = .3=[p(x):—11x+2+6x2+6x4—3x3,c=ﬂ

-2
.4=[p(x)=3x—1+12x4+8x3+9x2,c=;}

A =[b(x)=x+2, a(x):mx3+x4+3x—2]
2=[b(x)=x-3,a(x)=x"-3xX +mx+2x - 18]
J=[b(x)=x—m, a(x):x2—2x—38,r:—3]
4=[b(x)=3x-5,a(x)=-8xX +5x +3x —=3x+m,r=-6]
| I=[p(x)=x +4x*—x—4] |
2=[p(x)=x"—34x"+225]
3=[p(x)=x"+64]
4=[p(x)=x"—-256]
.5:[p(x):x4—6x3+5x2+8x—4]
6=[p(x)=x"-x=19x"+49x—30]
7=[p(x)=10x"+53 x>+ 64 x — 15]

| 8=[p(x)=12x"+65x"+67x* =57 x+9]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00026XX
Real02 for No.13053

No02 =

No03 =

.]:[p(x):x4—5x2+x—3,c:1]
2=[p(x)=x"+5x+5x"=1,¢c=-3]

-5
NoOlI = 3= p(x)=—3x+9+13x2+6x3,c=ﬂ

5
.4={p(x)=—29x+11+12x2+6x4—10x3,c:§}

.]=[b(x):x—3,a(x)=x4—4x3+m+2x]
2=[b(x)=x+2,ax)=x"+xX +mx—3x +4]
3=[b(x)=x—m,a(x)=x"—8x+16,r=1]
.4:[b(x):2x—3,a(x):4x4—6x2+7x—2+mx3,r:—5]
I d=[p(x)=x -2~ 9x+18] |
2=[p(x)=x"=20x"+64]
3=[p(x)=x"—64]
4=[p(x)=x"-16]
S=[p(x)=x"—9x"+12 x>+ 44 x — 48]
G6=[p(x)=x"-3x-2x"+10x—-12]
T=[p(x)=15x -4x*-9x-2]

4 3 2
L8=[p(x)=12x" 53>+ 81 x* - 52x+12].
X [Page = 0013] XXXXXXXXXXKXXXXXKXXXXXXXKXXXXXKXKXXXKKKXKXXXKXKKXKXXXKXKKXKXKXXKKKKKXKKKKKKKXK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMAL /2-6500104-00027XX
Real02 for No.13068

d=[p(x)=x"-3x"+2x+3,c=3]
2=[p(x)=x"-3x"—4x-2,c=-2]

-5
No0l = .3=[p(x)=—9x+ 12+4x2+4x3,c:ﬂ

2
.4=[p(x)=9x2+3x+15x4—10x3—12,c=5}

.]:[b(x):x—l,a(x):x4+mx2+3x3+3x—7]
2=[b(x)=x+2,a(x)=x"—x+m+2x]

No(2 = 5
d=[blx)=x-m,a(x)=x"+3x+9,r=7]
4=[b(x)=2x—la(x)=4x" +mx,r=-3]
I .1:[p(x):x3—5x2—9x+45] ]

2=[p(x)=x"—41x"+400]
3=[p(x)=x"—64]
NoO3 = A4=[p(x)=x"-1]

S=[px)=x"-x —8x"+5x+3]
6=[p(x)=x"+8x+7x*=36x—36]
7=[p(x)=20x+49 x> +19x +2]

| 8=[p(x)=8x"+10x =29 x> =19 x +30]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00028XX
Real02 for No.13086

d=[px)=x"+3x+2x-1,c=1]
2=[p(x)=x'+4x —-x+4,¢=-3]

5
NoOI =| 3= p(x)=3x4+7x3—20x2—9x+19,c=ﬂ

-5
-4:{P(x)=2x4+11x3+15x2+6x+16,c:;}

A=[b(x)=x- 1,a(x)=x4+mx2—3x3+x+1]
2=[b(x)=x+2,ax)=x"+mx—-2x"—4]
3=[b(x)=2x-5,a(x)==26x+19+8x" +4x" +mx’, r=4]
4=[b(x)=x—m, a(x):x2+5x+6,r:2]

d=[p(x)=x-3x—x+3] |
2=[p(x)=x"=17x"+16]
3=[p(x)=x"-1]
4=[p(x)=x"-256]
S=[p(x)=x"+x —6x"—14x-12]
6=[p(x)=x"-x—19x"+49x—30]
T=[p(x)=15x+32x"+3x-2]

4 3 2
LE=[p(x)=12x -23x" - 18x " +27x+ 101
X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXKXXKXXXXKXKXKXKXKXKKXX

No(2 =

No03 =




)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMAL /2-6500104-00029XX
Real02 for No.13111

d=[p(x)=x"-5x+4x*+2,¢=3] |
2=[p(x)=x'+3x"—4x-4,c=-1]

5
No0l = .3:{p(x):—8x— 13 + 12x2,c=ﬂ

-1
.4={p(x)=2x3—7x2—2x—4,c=5}

.]:[b(x):x+3,a(x):x4+2x3+mx—15]
2=[b(x)=x-La(x)=x'+mx’-3x —=2x+4]

No02 = )
J=[b(x)=x-m,a(x)=x"-8x+ 14, r=-1]
4=[b(x)=3x-5,a(x)=6x"+9x—11+mx, r=4]
 I=[p(x)=x’+5x"-9x-45] |
2=[p(x)=x"—13x"+36]
3=[p(x)=x"—125]
NoO3 — 4=[p(x)=x"—625]

S=[px)=x"-2x"—x+2]
6=[p(x)=x"+x —28x"+20x+48]
J=[p(x)=12x"=37x*+22x +8]

L8=[p(x)=10x"—13x =6+ 13 x—4]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00030XX
Real02 for No.1311l6

.I:[p(x):x4—x3—5x2—5,c:3]
2=[p(x)=x"+3x —4x-5c=-2]

5
NoOI =|.3= p(x)=—8x2+14x+1ox4—25x3+18,c=ﬂ

-2
.4:[p(x):—3x2—5x+15x4+10x3+4,c:§}

.]:[b(x)zx—3,a(x):x4—4x3+mx+ 18]
2=[b(x)=x+1Lax)=x"+mx’-5x—1]
3=[b(x)=x—m,a(x)=x"—x—40,r=2]
4=[b(x)=3x+1Lax)=10x+ 12X+ 15x* +5xX +m, r=1]
= [p(x)=x"+3x-25x-75] |
2=[p(x)=x"=26x"+25]
3=[p(x)=x"-38]
4=[p(x)=x"-256]
S=[p(x)=x"+9x +29x* +39x + 18]
GH=[p(x)=x"—6x"+13x*—16x+12]
J=[p(x)=12x -11x"=23x-6]

4 3 2
L.8=[p(x)=10x"+9x" =38 x"—36x— 8]
X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXKXXKKXXKKXXKKXKKXX KKK KKK XKKKKK
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Real02 for No.13122

d=[p(x)=x"-5x-4x~1,c=1] |
2=[p(x)=x"+x"+3x-1,c=-2]

-3
No0l = .3=[p(x)=8x+9+8x3+12x2,c=ﬂ

1
.4=[mﬁ)=6f+7x?—3x—Lc=g}

.1:[Mﬁ):x—LaUQ:x{an+x—2ﬂ

2=[b(x)=x+3,a(x)=x"+3x +m+x]

.3:[Mﬁ):x—mﬂwﬂ:x;—4x—lr:—ﬂ
4=[b(x)=2x-5,a(x)=4x"-10x"+4x—4+mx, r=6]

No02 =

d=[p(x)=x+3x"—x-3]
2=[p(x)=x"—41x"+400]
3=[p(x)=x"+125]
4=[p(x)=x"—-256]
S=[p(x)=x"+12x +49x" + 78 x +40]
G6=[p(x)=x"+2x —4x-5x-6]
T=[p(x)=15x =37x*+ 12 x + 4]

4, 3 2
L S=[p(x)=12x"+x - 18x"—x+6] _
PO0:010:010:010:010.0:0:0.0:0.0.0.0.0.0.0.0.0:00.00.0.0.0.0.0.0.:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0:0:0.0.0.0:0.0.0.0.0.0.0.0'0:0'0:0:0:0.0:0
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXKXXXKXKXKXKXMA /2-6500104-00032XX

Real02 for No.13123
d=[p(x)=x"-3x"+4x+5,¢c=3]
2=[p(x)=x"+3x -3x"+5,¢c=-2]

No03 =

)
NoOI =| 3= p(x)=—6x+1+12x3+8x2,c=ﬂ

1
.4=[p(x)=8x—6—9x3+3x2+6x4,c=ﬂ

.]:[Mﬁ):x—l,dx):mxahf+5x2—2]
2=[b(x)=x+2,a(x)=x"+xX +mx—2]
3=[b(x)=3x+2,a(x)=9x"+6x = 10x=5+mx’, r=-1]
.4:[Mx):x—nudx):x2—10x+2lr:—2]

No()2 =

d=[p(x)=x+5x"—x—-5]
2=[p(x)=x"=17x"+16]
3=[p(x)=x"+38]
4=[p(x)=x"-81]
S=[px)=x"-7xX+15x* =11 x+2]
G6=[p(x)=x"—6x+3x"+26x—24]
T=[p(x)=6x—11x*-24x+9]

4 3 2
L8=[p(x)=8x +14x"-39x" — 18 x+27]]
PO0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.04

No03 =

X [Page = 0016]



)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXM4L /2-6500104-00033XX
Real02 for No.13126

d=[p(x)=x"-3+2x"-5,¢c=3] |
2=[p(x)=x"+x-2x-1,c=-2]

3
No0l = .3:{p(x):2x2—x— 10,c=ﬂ

-1
.4={p(x)=—9x+4+3x4+x3,c=;}

A=[b(x)=x+ l,a(x):x4—5x3+m—x]
2=[b(x)=x-3,a(x)=mx +x' —=5x" +18]

No02 = 4 ;3 )
d=[bx)=2x+1,a(x)=—8x-3+6x +3x +mx,r=1]
4=[b(x)=x-m,a(x)=x"+6x+12,r=7]
| d=[p(x)=x=3x"—x+3] |
2=[p(x)=x"—25x"+144]
3=[p(x)=x"-1]
NoO3 4=[p(x)=x"-16]

S=[p(x)=x"=7xX +2x"+28x—24]
H=[p(x)=x"-7xX+9x+11x—-6]
7=[p(x)=20x" =77 x>+ 89 x —30]

| 8=[p(x)=15x"-53x"=25x*+157x =301
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4
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Real02 for No.13325

d=[p(x)=x"—4x"—4x+5,¢c=2]
2=[p(x)=x"+3x—x-1,c=-3]

1
NoOl=| 3= p(x)=—4x—5—5x3+x2+6x4,czz}

2
.4=[p(x)=15x4+19x3+6x2—6x—3,c:?J

.1=[b(x):x+2,a(x):mx3+x4+5x— 14]
2=[b(x)=x-lLa(x)=x"+mx+3x"—9]
3=[b(x)=3x—lLa(x)=-11x+2x"+15x" +m, r=-7]
A4=[b(x)=x—m, a(x):x2—7x+ 18, 7r=6]
| I=[p)=X+x—4x-4] ]
2=[p(x)=x"=10x"+9]
3=[p(x)=x"—8]
4=[p(x)=x"-625]
S=[px)=x"-7xX +5x"+31x-30]
G6=[p(x)=x"-5x+4x"+6x—4]
T=[p(x)=9x-12x> +x+2]

4 3 2
L8=[p(x)=9x +18x —7x —16x—4]]
X [Page = 0017] XXXXXXXXXXXXKXKXKXXXXXXXKXKXKXKXKXXXKXKXKXKXKXKKKKKXKXKXKXKXKKKKK
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)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXMEL /2-6500104-00035XX
Real02 for No.13421

.]:[p(x)=x4—4x3+x2+5,c:2]
2=[p(x)=x"+4x+x-5c=-1]

1
No0Ol = .3:[p(x)=6x3—2x2+7,c:gJ

-3
.4=[p(x)=2x3—6x2+4x4—4x—10,0=;}

A=[b(x)=x+3, a(x):mx3+x4+x2—9]
2=[b(x)=x-2,a(x)=x"+mx—4x"+38]

No02 = 3 )
d=[bx)=2x—-1,a(x)=5x—-7+8x +mx",r=-5]
4=[b(x)=x—m,a(x)=x"+3x—-34,r=-6]
| d=[p(x)=x=5x"—x+5] |
2=[p(x)=x"-5x"+4]
3=[p(x)=x"+64]
NoO3 4=[p(x)=x"—-256]

.5:[p(x):x4—3x3—7x2+15x+18]
G6=[p(x)=x"+6x"+13x>+14x+6]
J=[p(x)=8x—46x"+71 x—15]

| 8=[p(x)=9x"=36x"+29x* +34x—40]]
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00036XX
Real02 for No.13646

d=[p(x)=x"-3x"+2x+2,¢=2]
2=[p(x)=x"+2x=5x"+2,¢c=-3]

5
NoOI =|.3 = p(x)=—9x+14+6x4—10x3,c=§:|

-5
.4:{p(x):8x+27+4x4+ 1ox3,c:ﬂ

.]:[b(x):x—3,a(x):x4—4x3+mx+2x2+9]
2=[b(x)=x+2,ax)=x"-2xX"+m+4x]
3=[b(x)=2x-5,a(x)=14x—13+6x" = 15X + mx’, r=-3]
A4=[b(x)=x—m, a(x):x2+2x— 14, r=1]

L I=[p(x)=x+2x7— 16x-32]
2=[p(x)=x"=34x"+225]
3=[p(x)=x"—64]
4=[p(x)=x"-1]
S=[p(x)=x"-9x" +28x*—34x+12]
G6=[p(x)=x"+5x—16x>— 68 x — 48]
7=[p(x)=10x"+51 x*+ 77 x +30]

4 3 2
L.8=[p(x)=15x"-28x"—83 x" + 84 x + 36]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXXKXXKXKXKXMA /2-6500104-00037XX

Real02 for No.13862

d=[p(x)=x"-3x"+3x+3,c=3]
2=[p(x)=x"+4x"+2x"+3,c=-2]

-5
No0l = .3=[p(x)=12x—17+8x4+2ox3+8x2,c=ﬂ

4
.4={p(x)=9x2—9x—2,c=g}

A =[b(x)=x-2, a(x):x4—3x3+m—3x]
2=[b(x)=x+ 1,a(x)=mx3+x4—2x2—2x—l]
3=[b(x)=3x—- 1,a(x)=—5x+15x4—5x3+ 1 +mx2,r:—2]
4=[b(x)=x—-m,a(x)=x"+2x—41,r=-6]
= [px)=xX’+4x—4x-16] |
2=[p(x)=x"—10x"+9]
3=[p(x)=x"+38]
4=[p(x)=x"—-256]
S=[px)=x"-2x"-13x>+ 14 x + 24]
6=[p(x)=x"-9x +24x*—19x +3]
J=[p(x)=16x =24x> +5x+3]

L 8=[p(x)=20x"+11x"=24x" - 11 x+4]]

):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00038XX
Real02 for No.13943

No02 =

No03 =

.]:[p(x):x4—x3+x2—2,c=2]
2=[p(x)=x"+x =5x"=1,c=-3]

-3
NoOl =|.3 = p(x)=5x—4+4x3+12x2,c=3}

2
.4=[p(x)=6x3+8x2—2x—5,c:§}

.]:[b(x):x—3,a(x):x4—5x3+4x2+m]
2=[b(x)=x+2,a(x)=x"+mx*+3x—14]
3=[b(x)=x-—m,a(x)=x"+4x-19,r=2]
.4:[b(x):3x—l,a(x):—6x2+2x+9x4+2+mx3,r:2]
= [p(x)=xX+5x—4x-20] |
2=[p(x)=x"=34x"+225]
3=[p(x)=x"+38]
4=[p(x)=x"-256]
S=[px)=x"+11x +35x"+13x-60]
GH=[p(x)=x"+x —15x>+7Tx+6]
T=[p(x)=12x +23x"-36x+9]

4 3 2
| 8=[p(x)=9x*—12x - 29x*+52x-201]
X [Page = 0019] XXXXXXXXXXKXXXXXKXXXXXXKXKXKXXKXXKXKXKXXKXKXKXKXXXKXKKXKXKXXKXKKXKXKXKXKKKKXKXKKKKXKKXK
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)19:9.9:9.9.9.9.9:90.0.9.9.9.9,9,9:0.:0.9.0.9.9.9.9:0.0.9.9.9.9.9:9.:0.:0.0.0.9.9.9,9:0.0.0.9.9.9.9.0.:0:0.0.9.9.9.9:9:0.0.9.9.9.9.9.9:0:0.0.9.9.9.9,:0.:0.0.0.0.0:4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKXMAL /2-6500104-00039XX
Real02 for No.13968

d=[p(x)=x"-3x"+3x+4,c=2]
2=[p(x)=x"-3x"-x*+5c=-1]

-1
No0l = ,3:[p(x)=—4x2—6x+8x3+6,c:5}

4
.4=[p(x)=—12x+11+3x4—4x3,c=§J

A=[b(x)=x+ l,a(x):x4—4x2+m+x]
2=[b(x)=x-3,a(x)=x"+mx’-5x +18]
3=[b(x)=2x—- 1,a(x):—2—5x3+x2+6x4+mx,r:—5]
4=[b(x)=x—m,a(x)=x"—9x+13,r=-7]
I d=[p(x)=x+5x"—9x—45] |
2=[p(x)=x"—20x"+64]
3=[p(x)=x"—125]
A=[p(x)=x"-1]
S=[p(x)=x"-5x+9x" - 11x+6]
H=[p(x)=x"+9x" +21x*—x-30]
J=[p(x)=20x+3x"—17x—-6]

L8=[p(x)=15x"—46 "+ 11x*+52x—20].
):9:9:9.9:0:0:0:0.9.9.9.9.9.9.9.0.0:0:0.9.9.9.9.9.0.0.0.0:0:0.9.9.9.9.9.9.0.0.0.:0:0.0.9.9.9.9.9.0.0.0.0:0:9.9.9.9.9.9.9.0.0:0:0.:0.9.9.9.9.9.9.0.0.0:0.0.:0.9.4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6500104-00040XX
Real02 for No.13981

No02 =

No03 =

d=[p(x)=x"-4x +4x+2,¢=3]
2=[p(x)=x"-2x"+5x"=5,c=-1]

5
NoOI =| 3= p(x)=—18x3+5x2+9x4+6x—11,c=ﬂ

-3
.4:[p(x):8x4+20x3+ 12X +4x+ 13,c:ﬂ

A =[b(x)=x+2, a(x)=mx3+x4—4x2+5x+ 10]
2=[b(x)=x-3,a(x)=x"—xX +mx—4x"— 18]

No02 = )
I=[b(x)=x—-m,a(x)=x"—x-18,r=2]
.4:[b(x):3x+2,a(x):3x3+4x+5+mx2,r:5]
= [px)=x—4x —dx+16] |
2=[p(x)=x"—41x"+400]
3=[p(x)=x"+125]
No03 — 4=[p(x)=x"-16]

S=[p(x)=x"+13x +56x" + 92 x + 48]
GH=[p(x)=x"—6x"+3x+2]
T=[p(x)=10x +43 x +43 x + 12]

4 3 2
L8=[p(x)=12x"-7x" =22x"+7x+ 10]4
X [Page = 0020] XXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXKXXKXKXXKKXKKKXKKXX KKK KKK XKKXKK
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Real02 for No.14006

d=[p(x)=x"-2x"+3x+2,¢=2]
2=[p(x)=x"+2x-3x"+5,c=-1]

1
Abo}:.3Z{mx):8x2—4x+4x4—2x$—lc:5}

-5
.4=[mﬁ)=15f+25f—9x—1@c=§}

.]:[Mx):x—l,dx):x4—2x3+nr—4x]
2=[b(x)=x+3,ax)=mx +x" +2x+6]
.3:[Mx):x—nudx):x;—6x+lr:—ﬂ
4=[b(x)=3x+2,a(x)=3x"+5x+2x"+13+mx,r=5]
| I=[p(x)=x +x*—4x—4] |
2=[p(x)=x"—41x"+400]
3=[p(x)=x"—125]
4=[p(x)=x"-81]
S=[p(x)=x"-x—27x"+ 81 x—54]
6=[p(x)=x"-8x"+21x*—20x+6]
J=[p(x)=8x"—10x"—23x—5]

4 3 2
LE8=[p(x)=15x"+53x +65x"+31 x+4]]
PO0:010:010:010:010.0:0:0.0:0.0.0.0.0.0.0.0.0:00.00.0.0.0.0.0.0.:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0.0:0:0.0.0.0:0.0.0.0.0.0.0.0'0:0'0:0:0:0.0:0
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Real02 for No.14020

No02 =

No03 =

d=[p(x)=x"+4x —x-4,¢c=1]
2=[p(x)=x"+x"+2x+3,c=-2]

2
No0I = .3:|:p(x):9x4+6x3—3x2—2x—6,c:?:|

5
-4:[mﬁ)=8x4—16f—40x2—6x+1&0:5}

.]=[Mﬁ):x+l,ﬂx)znuf+x4—3x—3]
2=[b(x)=x-3,a(x)=x"+mx’—4x]

No02 = )
d=[b(x)=x-m,a(x)=x"-2x-9,r=-6]
.4:[Mﬁ):3x+4,dx):6x2—x+ngr:5]

= [p(x)=x"-5x"-16x+80] |
2=[p(x)=x"=26x"+25]
3=[p(x)=x+1]
No03 - 4=[p(x)=x"-16]

[p(x)=x"—x—8x*+11x-3]
[p(x)=x"+4x —14x" =36 x +45]
J=[p(x)=10x"+29x* +20 x + 4]

4 3 2
L8=[p(x)=10x"-19x" =34 x" +x+ 6]
X [Page = 0021] XXXXXXXXXXXXXXXXXXXXXKXXXXXXKKXXKKXKXKXXKKXXKKXKKXXKKXKKKXKKXKK
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXME /2-6500104-00043XX
Real02 for No.14022

I d=[p(x)=x'+2x"-3x+3,¢c=1] |
2=[p(x)=x"+3x+x+3,c=-3]

-5
No0l = .3:[p(x):3x—21+9x2+15x4+25x3,c:;}

1
.4=[p(x)=9x—2—7x2+2x3,c=5}

A=[b(x)=x-2, a(x):x4+mx2+2x3—5x—22]
2=[b(x)=x+1Lax)=x'-3x +4x"+m]
3=[b(x)=2x-5,a(x)==2x+12+6x - 10x>+mx", r=7]

4=[b(x)=x-m,a(x)=2-3x+x.,r=6]
d=[p(x)=x"+3x*—16x—48] |
2=[p(x)=x"-5x"+4]

3=[p(x)=x"~1]
4=[p(x)=x"-256]

S=[p(x)=x"-3x -7x+27x—- 18]

G6=[p(x)=x"+7x+16 x> +13x+3]

J=[p(x)=12x +41 x>+ 12x-9]

4 3 2
L8=[p(x)=15x"+92° + 179 x* + 122 x + 241
19:0.90.9:9.9.9.9.:9:0.0.0.9.9.9.9:0:0.0.9.9.9.9.9.:9:0.0.9.9.9.9.9.:9.:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.9.:0.0.9.9.9.9.9.9.:0.:0.0.9.9.9.9.9.90.0.0.9.:9.9.9.9.0.0.0.0.0:4
(>

No02 =

No03 =




